


Grades 3-5, Claim 3

Example Item 3A.1b (Grade 4)
Primary Target 3A (Content Domain MD), Secondary Target 11 (CCSS 3.MD.D), Tertiary Target 3F

William shaded 6 squares in a grid to make the figure shown. Part A. Click to shade one more square so
the perimeter is greater than the original
figure.

He claims that if he adds 1 more square to this figure in Part B. Click to shade one more square so

different places, the perimeter can be greater than, less than, or the perimeter is less than the original

equal to the perimeter of the original figure. figure.

Part C. Click to shade one more square so
the perimeter is equal to the original figure.

Rubric:
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Grades 3-5, Claim 3

Example Item 3A.1c (Grade 5)
Primary Target 3A (Content Domain NBT), Secondary Target 1D (CCSS 4.NBT.B), Tertiary Target 3F
Nina says, “If you multiply a 2-digit number and a 1-digit number, you get a 3-digit number.”

Enter numbers in the table to give one example of when Nina’s claim is true, and another example that shows her claim is not
always true.

2-digit | 1-digit | 3-digit

Example of when — number | number | product

Nina’s claim is true

Nina’s claim is not true

Rubric: (2 points) The student gives an example where the product is a three-digit number (e.g., 90 x 2=180) and an example
where it is not (e.g., 10 x 2=20).
(1 point) The
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Grades 3-5, Claim 3

Task Model 3A.2
e The student is presented with one or more propositions or conjectures and several examples and asked implicitly or
explicitly which examples support or refute each proposition.
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Grades 3-5, Claim 3

Target 3B: Construct, autonomously, chains of reasoning that will justify or refute propositions
or conjectures.

General Task Model Expectations for Target 3B
« Items for this target should focus on the core mathematical work that students are doing around numbers and
operations, with mathematical content from other domains playing a supporting role in setting up the reasoning

contexts.
« Items for this target can probe a key mathematical structure such as the structure of base-ten numbers, fractions, or

the four operations and their properties.
« Items for this target can require students to solve a multi-step, well-posed problem involving the application of
mathematics to a real-world context. The difference between items for Claim 2A and Claim 3B is that the focus in 3B is

on communicating the reasoning process in addition to getting the correct answer.
 Note that in grades 3-5, items can provide more structure than items for later grades to help them understand the

expectations for justifying or refuting a proposition or conjecture.

Task Model 3B.1
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Grades 3-5, Claim 3

Rubric: (1 point) The student identifies the equation as true and clicks to shade either a 4 x 3 rectangle or a 4 x 4 rectangle;
see examples below.

Response Type: Hotspot

Example Item 3B.1b (Grade 4)
Primary Target 3B (Content Domain OA), Secondary Target 1B (CCSS 4.NBT.B), Tertiary Target 3F
Carter says, “8000 is 100 times as large as 80.”

Choose three statements that support this claim.

Drag them into a logical order.

Rubric: (1 point) The student selects three statements that complete an explanation for the claim and puts them in a logical
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Grades 3-5, Claim 3
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Grades 3-5, Claim 3
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Grades 3-5, Claim 3

Example Item 3B.3a (Grade 3)
Primary Target 3B (Content Domain OA), Secondary Target 1D (CCSS 3.0A.D)

A bird ate 400 grams of food in 3 days. The bird ate 120 grams of food on Day 1, 150 grams of food on Day 2, and
g grams of food on Day 3.

Day | Grams of Food
1 120
2 150
3 g

How many grams of food did the bird eat on Day 3? Enter your answer in the first response box.

In the second response box, enter an equation that you could solve to find the amount of food the bird ate on Day 3.

Rubric: (2 points) The student enters the correct number of grams of food on Day 3 and enters a correct (e.g., 130;
400 — 120 — 150 = x, 120 + 150 + x = 400, or equivalent equation).
(1 point) The student enters the correct number of grams of food on Day 3 or enters a correct equation.

Response Type: Equation/Numeric (2 response boxes)

Example Item 3B.3b (Grade 4)
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Grades 3-5, Claim 3
Target 3C: State logical assumptions being used.
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Grades 3-5, Claim 3



Grades 3






Grades 3-5, Claim 3

Example Item 3D.1b (Grade 4)
Primary Target 3D (Content Domain MD), Secondary Target 1K (CCSS 4.MD.C)

When you cut an obtuse angle into two smaller angles, what can be true? (Select all that apply.)
A. The two smaller angles can be less than 90 degrees.

B. At least one of the two smaller angles can be greater than 90 degrees.

C. Both of the two smaller angles can be greater than 90 degrees.

Rubric: (1 point) The student selects the possible cases (A and B).

Response Type: Multiple Choice, multiple correct response

Example Item 3D.1c (Grade 5)

Primary Target 3D (Content Domain G), Secondary Target 1K (CCSS 5.G.B)

Nora has drawn two identical isosceles right triangles.

Here is a way to put them together so that they share a side and make another triangle.

Select all the quadrilaterals Nora can make with these triangles if she puts them together so that they share a side.

A. A square

B. A rectangle that is not a square

C. A rhombus that is not a square

D. A parallelogram that is not a rectangle
Rubric:
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Grades 3-5, Claim 3

Task Model 3D.2
e The student is given a proposition and an exhaustive list of cases and asked to determine in which of those cases the
proposition is true.
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Grades 3-5, Claim 3

Example Item 3D.2c (Grade 5)
Primary Target 3D (Content Domain NF), Secondary Target 1? (CCSS 5.NF.B), Tertiary Target 3C

32 x 45 is greater than both 32 and 45. When is a x b between a and b?
Select all that apply.

Whena>1landb=>1

Whena<landb=>1

Whenb<landa=>1
Whena<landb<1

Oow»

Rubric: (1 point) The student selects B and C.
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Grades 3-5, Claim 3

Example Item 3E.2a (Grade 5)

Primary Target 3E (Content Domain NBT), Secondary Target 1E (CCSS 4.NBT.A), Tertiary Target 3C

Mr. Spivak’s class was finding the volume of a right rectangular prism with dimensions 20 cm, 45 cm, and 80 cm.

Brigit said, “l tried two ways of multiplying the dimensions and got different answers. | can’t figure out what went wrong.”
She explained her two ways to Mr. Spivak.

First method:

Step 1: | distributed.

20 x (45 x
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Grades 3-5, Claim 3
Target 3F: Base arguments on concrete referents such as objects, drawings, diagrams, and actions
Task Model 3F.1
e The student uses concrete referents to help justify or refute an argument.
 Items in this task model should address content in standards that specifically call for number lines, diagrams, and
contexts to be used as a basis for reasoning.

Example Item 3F.1la (Grade 3)
Primary Target 3F (Content Domain NBT), Secondary Target 1F (CCSS 3.NF.A), Tertiary Target 3B

Compare
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Grades 3-5, Claim 3

Example Item 3B.1b (Grade 3)
Primary
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Grades 3-5, Claim 3
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Grades 3-5, Claim 3

Example Item 3F.1d (Grade 5)
Primary Target 3F (Content Domain NBT), Secondary Target 1F (CCSS 5.NF.B), Tertiary Target 3B

Complete the story about friends sharing cupcakes to show that $% & ** 2
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